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ñZmVH$ (~r.E./~r.H$m°_.) àW_ df© narjm - 2014

(nÌmMma nmR>²̀ H«$_)

{df` … gm_mÝ` {hÝXr

g_` … 3.00 KÊQ>o nyUmªH$ … 70

{ZX}e … g^r àíZm| Ho$ CÎma Xr{OEŸ& g^r àíZm| Ho$ A§H$ gm_Zo A§{H$V h¢Ÿ&

à. 1. {ZåZ{b{IV H$s gàg§J ì`m»`m H$s{OEŸ& 4 x 5 = 20

(H$) {h_m{X« Vw“ e¥§J go

n«~wÕ ewÕ ^maVr

ñd`§ à^m g_wÁÁdbm

ñdV§ÌVm nwH$maVr

""A_Ë`© dra nwÌ hmo, Ñ‹T> à{Vk gmoM bmo,

àeñV nwÊ` n§W h¡- ~‹T>o Mbmo, ~‹T>o MbmoŸ&''

AWdm

Ûrn h¢ h_

`h Zht h¡ emnŸ& `h AnZr {Z`{V h¡Ÿ&

h_ ZXr Ho$ nwÌ h¢Ÿ& ~¡Q>o ZXr H«$moS> _|Ÿ&

dh d¥hX² ^yIÊS> go h_H$mo {_bmVr h¡Ÿ&

Am¡a dh ^yIÊS> AnZm {nVa h¡Ÿ&

AWdm

JmoXmdar Ho$ àmH¥${VH$ gm¡ÝX`© H$m dU©Z AnZo eãXm| _| H$s{OEŸ&

à. 3. {ZåZ{b{IV _| go {H$gr EH$ {df` na {Z~§Y {b{IEŸ& (500 eãXm| _|)15

(H$) _oam {à` gm{hË`H$maŸ

(I) ^maVr` g§ñH¥${V Ho$ {d{^Þ ê$nŸ

(J) ^«îQ>mMma … Xoe _| Xr_H$

(K) g§Mma V§Ì Ed§ àm¡Úmo{JH$s {dH$mgŸ

à. 4. {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OEŸ& 5 x 3 = 15

(H$) {ZåZ{b{IV eãXm| Ho$ Xmo-Xmo AW© ~VmBE-

{_Ì, Hw$b, gỳ ©

(I) {H«$`m {H$go H$hVo h¡§?

(J) {ZåZ{b{IV eãXm| Ho$ {dbmo_ eãX {b{IE-

H${ZîR>, CÎm_, nwañH$maŸ&

(K) gd©Zm_ Ho$ ^oX ~VmBEŸ&

(M) g§{Y Am¡a g_mO _| AÝVa ~VmBEŸ&

ttt
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(I) ^maV _mVmŸ&

J«m_ dm{gZrŸ&

IoVm| _| \¡$bm ÑJ í`m_b

eñ` ^am OZOrdZ Am±Mb,

J§Jm `_wZm _| ew{M l_ Ob

erb _y{V©

gwI Xw…I Cnm{gZrŸ&&

AWdm

do _wñH$mVo \y$b, Zht-

{OZH$mo AmVm h¡ _waPmZm,

do Vmam| Ho$ Xrn, Zht-

{OZH$mo ^mVm h¡ ~wP OmZm

do Zrb_ Ho$ _oK, Zht-

{OZH$mo h¡ Ywb OmZo H$s Mmh

dh AZÝV G$VwamO, Zht-

{OgZo XoIr OmZo H$s amhŸ&&

(J) `h ~mob gX¡d _hmXod H$s {Oh²dm na ahVm WmŸ& {XZ _| ghòm| ~ma `o

eãX  CgHo$ _w§h go {ZH$bVo Wo na CZH$m Ym{_©H$ ^md H$^r ^r CgHo$

AÝV…H$aU H$mo ñne© Zht H$aVm WmŸ& O¡go {H$gr ~mOo go amJ {ZH$bVm

h¡, Cgr àH$ma CgHo$ _w±h go `h ~mob {ZH$bVm Wm, {ZaW©H$ Am¡a

à^md-eyÝ`Ÿ&

AWdm

Zmar Ho$ öX` _| Omo Jå^ra __Vm, gOb-dra-^md CËnÞ hmoVm h¡, dh

nwéf Ho$ CJ«-em¡̀ © go A{YH$ CXmÎm Am¡a {Xì` ahVm h¡ nwéf AnZo

ì`pŠVJV `m g_yhJV amJÛof Ho$ {bE ^r dra-Y_© AnZm gH$Vm h¡ Am¡a

Ah§H$ma H$s V¥{á _mÌ Ho$ {bE ^rŸ& na Zmar AnZo g¥OZ H$s ~mYmE§ Xya

H$aZo Ho$ {bE `m AnZr H$ë`mUr g¥pîQ> H$s ajm Ho$ {bE hr ê$Ð ~ZVr

h¡Ÿ&

(K) ""_hmamîQ´>- Ho$ gmYw-gÝVm| Zo `{X AnZr _§Jb dmUr \¡$bm`r Z hmoVr

Vmo OZ-ñWmZ _mZmo ^`mZH$ COm‹S> àXoe hmo J`m hmoVmŸ& Ja_r H$s Yyn

H$mo Q>mbZo Ho$ {bE {Og Vah V¥U-g¥pîQ> Mmam| Amoa \¡$b OmVr h¡, Cgr

Vah OrdZ H$s {df_Vm H$mo ^wbm XoZo Ho$ {bE gmYw-gÝV gd©Ì {dMaVo

h¢, `h {H$VZo ~‹S>o gm¡̂ m½` H$s ~mV h¡Ÿ&''

AWdm

n`m©daU H$mo ^maVr` ÑpîQ> go g_PZo H$s H$mo{ee H$a|Ÿ& BgHo$ gmW

h_mar hOmam| dfm] H$s {_ÌVm h¡, {OgHo$ AZwgma n`m©daU H$m joÌ

àmH¥${VH$ n`m©daU H$m joÌ Zht h¡Ÿ& h_mao `hm§ àH¥${V H$m ~hþV ì`mnH$

AW© {b`m J`m h¡, g§gma H$s H$moB© MrO Eogr Zht h¡, Omo àH¥${V go AbJ

hmoŸ&

à. 2. {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OEŸ- 2 x 10 = 20

(H$) "{XZH$a Ho$ H$mì` H$m à_wI ñda amîQ´>r`Vm H$m h¡Ÿ&' Bg H$WZ H$mo

gmoXmhaU ñnîQ> H$s{OEŸ&

AWdm

"Akò ' H$s H$mì`JV {dímofVmAm| H$m CëboI H$s{OEŸ&

(I) "AmË_mam_' erf©H$ H$hmZr H$s {deofVmAm| H$m CX²KmQ>Z H$s{OEŸ&
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B.A./B.COM. FIRST YEAR EXAMINATION 2014

(CORRESPONDENCE COURSE)

PAPER - I : GENERAL ENGLISH

Time : 3.00 Hrs. M.M. 70

Q. 1. Read the following passage and answer the questions that follow: 15

I have received so much love and affection from the Indian people that

nothing that I can do can repay even a small fraction of it, and indeed

there can be no repayment of so precious a thing as affection. Many have

been admired, some have been revered, but the affection of all classes of

the Indian people has come to me in such abundant measure that I have

been overwhelmed by it. I can only express the hope that in the remaining

years I may live, I shall not be unworthy of my people and their affection.

To my innumerable comrades and collegues, I owe an even deeper debt

of gratitude. We have been joint partners in great undertakings and have

shared the triumphs and sorrows which inevitably accomp any them.

(i) By what was Nehru overwhelmed?

(ii) From which essay the extract has been taken?

(iii) What hope does Nehru express?

(iv) What message does Nehru give?

(v) What does Nehru say about triumphs and sorrows?

Q. 2.  Answer any one of the following parts: 5

(A) Supply suitable articles :

(i) Are you still at ................ University?

(ii) I want to go to ................ Cinema today.

(iii) Sports make ................ body strong.

(iv) ................ Indians are hard working.

(v) He looks as stupid as ................ owl.

(B) Supply suitable determiners :

(i) Have you ....... difficulty? (some/any/many)

the efficacy of teaching. Whether it is the teacher of mathematics, science

or language the ultimate goal of any teacher should be effective teaching.

This paper presents a brief account of the nature of research on teaching

in general education and in English as a foreign/second language that

took place in the took place in the last fifty years. The emergence of new

perspectives in the research on teaching is also discussed. The prime focus

of this research is the teacher and certain variables that influence their

classroom practices.

Q. 11.Write a paragraph in about 200 words on any one of the following topics:

10

(i) Importance of Media

(ii) Democracy : Present and future

(iii) Importance of English

ttt
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(ii) There was ....... traffic on the road. (much/many/few)

(iii) There is not ....... boot polish in this tin. (some/little/any)

(iv) I am sorry. I have ....... friends. (a few/few/many)

(v) I doubt if there are ....... sweets left. (some/any/little)

Q. 3.  Choose the most suitable prepositions : 5

(i) She was sitting ....... her two sisters (between/among/on)

(ii) He lends money ....... interest. (on/at/by)

(iii) There was a fly ....... the milk. (in/on/over)

(iv) The car run ....... the snake. (on/over/in)

(v) I can't part ....... my car. (from/with/off)

Q. 4.  Fill in the blanks using appropriate phrasal verbs: 5

(i) He decided to ....... smoking (give in/giveup/give on)

(ii) How did the accident ....... ?. (come out/come off/come about)

(iii) The police ....... the crowd at the House. (broke up/broke in/broke off)

(iv) The candidates ....... for the interview. (turned up/ turned over/

turned out)

(v) Don't forget to ....... the light. (turn up/turn out/turn in)

Q. 5.  Transform the follwing sentences as instructed : 5

(i) Do as I say. (simple)

(ii) Being late, he was not allowed to appear in the exam. (compound)

(iii) He is too weak to run. (complex)

(iv) Since he was ill, he did not turnup. (simple)

(v) Besides food, he gave her ice-cream also. (not only .... but also.)

Q. 6.  Write the correct form of the verb: 5

(i) Ramesh has just ......... (go) out.

(ii) She is getting tired, it is time she ........ (go) home.

(iii) I ........... (hear) a continuous noise in the next room.

(iv) I .......... (know) Mr. Sharma for two years.

(v) I wish, I ........ (work) harder.

Q. 7.  Fill up the following blank space with appropriate word: 5

(i) I am going to meet the new .......... . (Principal/Principle)

(ii) .......... Mohan, everybody came. (Except/accept)

(iii) He often ................ of his heraldry. (Boast/Boost)

(iv) This ....... is reserved for a public park. (Site/Sight)

(v) The bride was wearing a costly ............ . (Costume/Custom)

Q. 8.  Rewrite the following sentences into passive voice: 5

(i) He has written a letter.

(ii) Who broke the chair?

(iii) Run fast.

(iv) I am to do it.

(v) Do you want me?

Q. 9.  Rewrite the following statements into indirect speech: 5

(i) He said to me' Come here'.

(ii) Radha said to me "you have done this".

(iii) The mother said 'Why are you so sad?'

(iv) The postman said to me "There is a parcel for you".

(v) He has been saying to me "The earth is round."

Q. 10.Make a precis of the following passage and give a suitable title: 5

Education is widely acknowledged as a serious activity with specific

objectives and lofty goals to fulfil. Among the many stakeholders of

education at different levels students, teachers, administrators,

curriculum and material developers and evaluation experts are the key

people associated with it. Teachers have a significant role to play in the

mission called education. They are the agents on whom considerable

amount of responsibility is laid since they are expected to bring about

successful learning in their students and improve the quality of education

at large.

Research in teaching, over the past few decades, has aimed at enhancing
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(Correspondence Course)

PAPER -II : FINANCIAL ACCOUNTING

TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.

{ZX}e … g^r àíZ hb H$s{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&

à.1. à{dpîQ>`m§ H$amo/Pass the Entry.

(i) am_ H$mo 10000 H$m _mb ~oMm {OgH$m AmYm ̂ mJ ZH$X h¡Ÿ&
Sold goods to Ram 10000 in out half in cash.

(ii) ZH$X AmhaU {H$`m 5000
Cash Drawings 5000

(iii) {dZmoX go 5000 H$m _mb IarXm {OgH$m AmYm ̂ mJ ZH$X h¡Ÿ&
Goods Purchased from Vinod 5000 in out of 50% in cash.

(iv) _erZ na 10% õmg bJmB`o 50,000
Deprication charged on machine by 10% 50,000.

(v) A{_V H$mo 2000 H$a ̂ wJVmZ {H$`m
Cash paid to Amit 2000

(vi) doVZ MwH$m`m 1000
Salary paid 1000

(vii) am_ H$mo ZH$X _erZ ~oMr 5000
Machine sold to Ram for cash 5000

(viii) ZH$X \$ZuMa IarXm 2000
Furniture Purchased for cash 2000

interest on capital @ 10% not charged.Pass the single entry.

AWdm /  OR

A§{V_ à{dpîQ> Š`m h¡? BgH$m boIm nwñVH$m| _| H¡$go {bI|Jo?
What is Closing Entries? How it will be pass in books of Accounts?

ttt
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(ix) AZrVm {Xdm{b`m hmo JB© d Cggo én`o _| 20 n¡go {_bo
Anita become insolvent & received 20 paisa in a Rupee from her.

AWdm /  OR

boIm§H$Z go Amn Š`m g_PVo h¢? boIm§H$Z H$s {d{^Þ AdYmaUmAm| H$m dU©Z H$amo?
What do you mean by Accounting? Described accounting concept in

briefly?

à. 2. EH$ _erZ 1 OwbmB© 2005 H$mo 5,00,000 é. _| IarXrŸ& 10% _yë` õmg KQ>Vr eof {d{Y
go bJmZm h¡Ÿ& 1 OZdar 2007 H$mo Xygar _ímrZ 2,00,000 é. _§o IarXrŸ&

1 Aà¡b 2008 H$mo nhbr _erZ H$m 20% ̂ mJ AmJ go Ob J`m Am¡a Cgo 30,000 é. _|
~oM {X`mŸ& _erZ ImVm 31 _mM© 2008 VH$ ~ZmZm h¡Ÿ&

A machine puschased on 1 July 2005 for Rs. 5,00,000. Deprication charged by

10% on W.D.V. On 1 January 2007 another machine purchased for Rs.
2,00,000.

On 1 April 2008 20% part of 1st machine damaged by fire & sold it for Rs.

30,000. Write up machine A/c upto 31 March 2008.
Account close Date 31 March.

AWdm /  OR

ny§OrJV d Am`JV _Xm| _| ̂ oX H$aZo Ho$ {Z`_mo§ H$m dU©Z H$a|Ÿ&
Described the rules of differentiate between Capital and
Revenue items?

à. 3 emIm boIm§H$Z _| {H$g àH$ma H$s g_ñ`mE§ CËnÞ hmoVr h¡ d CÝh| H¡$go hb {H$`m OmVm
h¡?
What types of problems arise in Branch Accounting and how are they

solved?

AWdm /  OR

~¢H$ g_mYmZ nÌ Š`m h¡? am oH$‹S> ~hr Ho$ ~¢H$ eof d nmg ~wH$ Ho$ eof _| A§Va Ho$ H$maU
~VmB`o?
What is Bank Reconcilation Statement? Describe cause of difference

between the Balance as per Cash Book & Pass Book?

à.4. A B EH$ \$_© _| 3…2… _| gmPoXma h¡Ÿ& CÝhm|Zo C H$mo 1/
4
 ̂ mJ Ho$ {bE gmPoXma ~Zm`m

{MÆ>m Bg àH$ma WmŸ&
A B are partner in a F irm 3:2 They admitted C for 1/

4
 share on

following term.

Balance Sheet as on 31st March, 2014

Liabilities Amount Assets Amount

Capital        A 1,00,000 Machine 1,00,000

                              B 50,000 Building 50,000

Creditor 50,000 Furniture 50,000

General Resources 50,000 Cash 50,000

2,50,000 2,50,000

(i) _ímrZ d ̂ dZ na 10% õmg bJmB`oŸ&
Machine & Building reduced by 10%.

(ii) \$ZuMa 1,00,000 na _yë`m§H$Z {H$`mŸ&
Furniture Valued 1,00,000

(iii) C 40,000 ny§Or d 20,000 »`m{V ZH$X bmVm h¡Ÿ&
C bring 40,000 as cash for capital & 20,000 for good will in cash.

nyZ©_yë`m§H$Z ImVm d ny§Or ImVo ~ZmB`o
Parepair revaluation and capital account.

AWdm /  OR

Aew{Õ`m§ {H$VZo àH$ma H$s hmoVr h¡? dU©Z H$amoŸ&
How many types of errors? Explain.

à. 5. XYZ EH$ \$_© _| 3…2…1 _| gmPoXma Wo {OZH$s ny§Or 50,000, 30,000 d 20,000 Wr
nwñVH|$ ~ÝX H$aZo Ho$ ~mX nVm Mbm& 1.Y H$mo 2,000 Z H$mo H$_reZ 3,000 d ny§Or na
10% ã`mO Zht {X`m J`m, EH$ à{dîQ>r H$a|Ÿ&
XYZ are partner in a firm 3:2:1. There capital 50000, 30000 and 20000. After

closing the books of A/c it was found; 1.Y Salary 2000 Z Commission 3000 &
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PAPER -III : BUSINESS REGULATORY FRAMEWORK

TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.

{ZX}e … g^r àíZ hb H$s{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&

Q. 1. à{V\$b H$s n[a^mfm Xr{OE VWm BgHo$ Amdí`H$ bjUm| H$mo g_PmBE?
Define Consideration and explain its characteristics.

OR / AWdm

""g_ñV AZw~ÝY R>hamd hmoVo h¢, {H$ÝVw g_ñV R>hamd AZw~ÝY Zht hmoVoŸ&''
ì`m»`m H$s{O`oŸ&/"All contracts are agreements, but all agreements

are not contracts". Explain.

Q. 2. {d{eîQ> Ed§ Mmby JmaÝQ>r Š`m h¡? BZ XmoZm| _| AÝVa ~VmBEŸ& Mmby JmaÝQ>r {H$g
àH$ma g_má H$s Om gH$Vr h¡?/What is a Specific and Continuing

Guarantee? Distinguish between the two. How is the Continuing

guarantee revoked?

OR / AWdm

EO|gr {H$go H$hVo h¢, AnZo {Z`moŠVm Ho$ EH$ EO|Q> Ho$ A{YH$mam| Ed§ H$Îm©ì`m| H$mo
~VmBEŸ&/What is an Agency? Explain the rights and duties of an agent

towards his Principal.

Q. 3. "AñdrH¥${V VWm ^wJVmZ Z H$aZo go Š`m A{^àm` h¡? CZ XemAm| H$m dU©Z
H$s{OE {OZ_| CXmhaU H$s gyMZm Amdí`H$ h¡?/What is meant by Dishonour

by non-acceptance and Dishonour by non-payment? State the

circumstances in which notice of dishonour is unnecessary.

OR / AWdm

do H$m¡Zgr XemE§ h¢, {OZ_| {d{Z_` gmÜ` {dboI H$m njH$ma Xm{`Ëd go _wŠV hmo
OmVm h¡?/What are the circumstances in which a party to a negotiable

instrument is discharged from liability?

Q. 4. gmPoXmar g§boI Š`m h¡? BgHo$ VÎdm| VWm Cn`mo{JVm H$s {ddoMZm H$s{OEŸ&
What is a Partnership Deed? Discuss its elements and utility.

OR / AWdm

{ZåZ{b{IV na {Q>ßnUr {b{IEŸ …
Write a note on the following :

(i) amÁ` Am`moJ / State Commission

(ii) amîQ´>r` Am`moJ / National Commission

Q. 5. ñdV§Ì gh_{V go Š`m Ame` h¡? gh_{V H$~ ñdV§Ì Zht _mZr OmVr h¡?
AZw~ÝY Ho$ {bE BgHo$ _hÎd H$mo g_PmBEŸ&/What is meant by Free Consent?

When is Consent not free? Discuss its importance in Contract.

OR / AWdm

{ZåZ{b{IV na {Q>ßnUr {b{IEŸ …
Write a note on the following :

(i) EO|gr Ho$ AZw~§Y / Contract of Agency

(ii) AÕ© AZw~ÝY / Quasi Contract

ttt
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PAPER -  IV  : TAX PROCEDURE & PRACTICES

TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.

{ZX}e … g^r àíZ hb H$s{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&

Q. 1. Explain merits and demerits of Direct and Indirect Taxes.

àË`j Ed§ AàË`j H$am| Ho$ bm^ d hm{Z ~VmB`oŸ&

OR / AWdm
Explain the power of taxation of State Government.

amÁ` gaH$ma Ho$ H$amamonU Ho$ A{YH$ma H$s ì`m»`m H$s{O`o&

Q. 2. State the objects and special features of the central sales tax act,

1956.

Ho$ÝÐr` {~H«$s H$a A{Y{Z`_ 1956 Ho$ CÔoí`m| Ed§ {deofVmAm| H$m dU©Z H$s{O`o&

OR / AWdm

Write short notes on the following under the CST act.Ho$ÝÐr` {~H«$s H$a
A{Y{Z`_ Ho$ AÝVJ©V {ZåZ{b{IV na g§{já {Q>ßn{U`m§ {b{I`oŸ&

(i) Appropriate State/Cn`wº$ amÁ`

(ii) Registered Dealer/n§{OH¥$V ì`mnmar

(iii) Year/df©

(iv) Trun over/{dH«$` am{e

Q. 3. Describe in detail the provisions relating to liability tax on inter state

sale.

AÝVam©Á`r` {~H«$s na H$a Xm{`Ëd go gå~pÝYV àmdYmZm| H$m {dñVma go dU©Z
H$s{O`o&

(i) d-̀i-̀m-@P.T.O.(ii)

OR / AWdm
What is subsequent sale of Goods? Explain the liabilities of central

sale tax upon such sales.

_mb H$s CÎmadVu {~H«$s go Š`m Ame` h¡? Eogr {~H«$s na Ho$ÝÐr` {~H«$s H$a Xm{`Ëd
ñnîQ> H$s{O`o&

Q. 4. Describe the provisions of Central Sale Tax Act regarding collection

of tax.

Ho$ÝÐr` {~H«$s H$a A{Y{Z`_ Ho$ H$a g§J«hU gå~ÝYr àmdYmZm| H$m dU©Z H$s{OEoŸ&

OR / AWdm
What do you mean by 'dealer'? Explain the definition of Dealer under

the Rejasthan Value Added Tax Act 2003./ì`mnmar go Amn Š`m g_PVo h¢?
amOñWmZ g§d{Y©V H$a A{Y{Z`_ 2003 Ho$ AÝVJ©V ì`mnmar H$s n[a^mfm H$mo ñnîQ>
H$s{OEoŸ&

Q. 5. Discuss the provisions of Rajasthan VAT act relating to turn over tax.

{dH«$` am{e Ho$ gå~ÝY _| amOñWmZ g§d{Y©V H$a A{Y{Z`_ Ho$ àmdYmZm| H$m dU©Z
H$s{OEoŸ&

OR / AWdm
Discuss the offences for which a penalty can be imposed under the

Rajasthan Value Added Tax Act.

CZ AnamYm| H$m dU©Z H$s{O`o {OZHo$ gå~ÝY _| amOñWmZ _yë` g§d{Y©V H$a A{Y{Z`_
Ho$ AÝVJ©V AW©XÊS> H$s ì`dñWm h¡Ÿ&

ttt
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PAPER -  V  : BUSINESS STATISTICS

TIME : 3.00 HRS. MM : 70

{ZX}e …{H$Ýht nm±M àíZm| Ho$ CÎma Xr{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&
Note : Attempt any five questions. Each question carries equal marks.

Q. 1. What do you mean by statistics? Describe the functions & importance

of statistics./gm§p»`H$s go Amn Š`m g_PVo h¢? gm§p»`H$s Ho$ H$m`© d _hÎd H$m
dU©Z H$s{O`oŸ& 2+6+6

Q. 2. Calculate the mean, median & mode from the following data.

g_mÝVa _mÜ`, _mpÜ`H$m d ~hþbH$ H$s JUZm H$s{O`oŸ& 14

C.S. (Ho$ÝÐr` AmH$ma) Frequency (Amd¥{V`m§)
1 - 5

2 - 50

3 - 45

4 - 30

5 - 20

6 - 10

7 - 15

8 - 05

Q. 3. Find out coefficient of Quartile Deviation from the following data.

{ZåZm§{H$V g_§H$m| go MVwW©H$ {dMbZ Ho$ JwUm§H$ H$s JUZm H$s{O òŸ& 14

M.V. (_mÜ` _yë`) Frequency (Amd¥{V)

5 - 5

15 - 6

25 - 12

(i) d-̀i-̀m-@P.T.O.



(iii)(ii)

35 - 10

45 - 7

Q. 4. Calculate standard deviation from following data.

{ZåZ g_§H$m| go à_mn {dMbZ kmV H$s{O òŸ& 14

                 X Frequency (Amd¥{V)
5-10 - 1

10-15 - 10

15-20 - 20

20-25 - 8

25-30 - 6

30-35 - 3

35-40 - 1

Q. 5. Calculate Bowley's cefficient of skewness from the following data.

{ZåZ g_§H$m| go ~mS>bo H$m {df_Vm JwUm§H$ kmV H$s{O`oŸ& 14

              X Frequency (Amd¥{V)
0 - 7

1 - 10

2 - 16

3 - 25

4 - 18

5 - 11

6 - 8

Q. 6. From the following data calculate the coefficient of Karlpearson from

the following data./{ZåZ g_§H$m| go H$mb© {n`g© H$m gh-gå~ÝY JwUm§H$ kmV
H$s{O`oŸŸ& 14

 X Y

44 - 88

58 - 114

49 - 102

46 - 113

58 - 91

56 - 89

48 - 102

46 - 93

48 - 114

47 - 94

Q. 7. Write short notes on the following -

{ZåZ na {Q>ßn{U`m§ {b{I ò - 7+7

(i)  Anñ\$s{V/Deflating

(ii) {eamo~§YZ/Splicing

Q. 8. Compute Fisher's ideal index number from the following data :

{ZåZ g_§H$m| go {\$ea H$m AmXe© gyMH$m§H$ kmV H$s{O`oŸ& 14

      dñVw       AmYma dîm©        Mmby df©
(Commudity)      (Base Year)     (Current Year)

  _yë`      -    _mÌm      -   _yë`      -    _mÌm
(Price) (Quantity)  (Price) (Quantity)

        A - 2 7 6  6

        B - 3 6 2 3

        C - 4 5 8 5

        D - 5 4 2 14

Q. 9. Given the follwing two regression equations.

{ZåZ Xmo àVrnJ_Z g_rH$aU Xr J`r h¡Ÿ& 7+7

x + 2y = 5

2x + 3y = 8

(i)  x d y loUr Ho$ _mÜ` _yë` kmV H$amoŸ&/Find out mean values of x & y.

(ii) gh-gå~ÝY JwUm§H$ kmV H$amoŸ&/Find out cofficient correlation.

Q. 10. What is the meaning of Time series analysis. Explain the importance

of Time series analysis./ H$mb loUr {díbofU H$m Š`m A{^àm` h¡? H$mb loUr
{díbofU H$m _hÎd ~VmB`oŸ& 4+10

ttt
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(Correspondence Course)

PAPER -  VI  : BUSINESS ECONOMICS

TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.

{ZX}e … g^r àíZ hb H$s{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&

Q. 1. ì`mdgm{`H$ AW©emñÌ H$s n[a^mfm Xr{OEŸ& ì`mdgm{`H$ AW©emñÌ H$s {deofVmAm|

H$m CëboI H$a|Ÿ&

Define the business economics. Write the characteristics of business

economics.

OR / AWdm

CXmgrZ dH«$ {H$go H$hVo h¢? CXmgrZ dH«$ H$r à_wI {deofVmE§ {bI|Ÿ&

What is indifference curve? Write the characheristics of indifference

curve.

Q. 2. ny{V© H$s bmoM go Amn Š`m g_PVo h¢? ny{V© H$s bmoM H$s {d{^Þ lo{U`m§ g_PmBEŸ&

What do you mean by elasticity of supply? Describe the classification

of supply.

OR / AWdm

ny§Or H$s n[a^mfm Xr{OEŸ& ny§Or {Z_m©U H$mo à^m{dV H$aZo dmbo VÎdm| H$m dU©Z H$s{OEŸ&

Define the capitial. Discuss the factors which effect the capital formation.

Q. 3. _yë` {ZYm©aU _| g_` VËd H$s ^y{_H$m H$s ì`m»`m H$a|Ÿ&

Explain the role of time element in the price determination.

OR / AWdm

~mOma go Amn Š`m g_PVo h¢? ~mOma H$m dJr©H$aU H$s{OEŸ&

What do you mean by Market? Write the Classification of Market.

Q. 4. _OXyar go Amn Š`m g_PVo h¢? _OXyar Ho$ _m§J-ny{V© {gÕmÝV H$s ì`m»`m H$a|Ÿ&

What do you mean by wages. Explain the demand-supply theory of

wages.

OR / AWdm

amîQ´>r` Am` H$s n[a^mfm Xr{OEŸ& amîQ´>r` Am` Ho$ _mnZ H$s {d[^Þ ar{V`m§ ~VmB©EŸ&

Define the national income. Write the different methods to measure

the national income.

Q. 5. Am{W©H$ H$ë`mU H$s AmYw{ZH$ AdYmaUm H$s ì`m»`m H$s{OEŸ&

Explain the modern concept of economic welfare.

OR / AWdm

g§{já {Q>ßnUr {bI|:

Write short notes:

(i)  _m§J H$m {Z`_ / Law of demand

(ii)  Hw$b Cn`mo{JVm Ed§ gr_mÝV Cn`mo{JVm / Total utility and Marginal utility

ttt
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PAPER -  VII  : BUSINESS BUDGETING

TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.

{ZX}e … g^r àíZ hb H$s{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&

Q. 1. Define Budgeting & Its advantage, limitation and its importance in

Business Context.

~OQ>Z H$mo n[a^m{fV H$s{OE Am¡a BgHo$ bm^, gr_mAm| VWm _hÎd H$mo ì`mnma Ho$
g§X^© _| ~VmB`oŸ&

OR / AWdm

Explain Budget Process & Mention the qualities of an Effective Budget.

~OQ> à{d{Y/à{H«$`m H$mo g_PmB`o VWm EH$ à^mdr ~OQ> Ho$ JwUm| H$mo ~VmB òŸ&

Q. 2. Define Business forecasting and its theories and its importance.

ì`mdgm{`H$ nydm©Zw_mZ H$mo n[a^m{fV H$s{OEŸ& BgHo$ {gÕmÝV VWm _hÎd H$mo ~VmB`oŸ&

OR / AWdm

Explain the methods of Business forecasting and it's type.

ì`mdmgm{`H$ nydm©Zw_mZ H$s {d{Y`m| VWm dJr©H$aU H$mo {dñVma go g_PmB`oŸ&

(i) d-̀i-̀m-@P.T.O.



 Q. 3. Define Budget & explain it's all kinds of classification in detail.

~OQ> H$mo n[a^m{fV H$s{OE VWm BgHo$ g^r àH$mam| Ho$ dJuH$aU H$mo {dñVma go g_PmB òŸ&

OR / AWdm

The Budgeted Expenses of 10,000 Electric Machines of Renuka Sugar

Limited are following :

aoUwH$m gwJa àm. {b. H$s 10,000 {dÚwV _erZm| H$m ~OQ>oS> ì`` {ZåZ àH$ma h¡Ÿ…

Particular Cost Per unit (Rs.)

Direct Material/(àË`j gm_J«r) 60

Direct Labour/(àË`j l_)$ 30

Direct Expenses/(àË`j IM©) 20

Factory overhead (Variable)/H$maImZm Cn[aì`` (n[adV©Zerb) 25

Factory overhead (Fixed)/H$maImZm Cn[aì`` ({ñWa) 15

Administrative Expenses (Fixed)/àemgZ ì`` (pñWa) 5

Distribution Expenses (Fixed 50%)/[dVaU ì`` (50%pñWa) 5

Total Cost/(Hw$b bmJV) 160

Selling Price/({dH«$` IM©) 200

Make a flexible budget for 6000, 7000 & 8000 Units.

6000, 7000 VWm 8000 BH$mB`m| Ho$ CËnmXZ hoVw bmoMXma ~OQ> ~ZmB`oŸ&

Q. 4. What is Production Budget? Why it's formed and what precautions we

have to keep in Making Production Budget?

CËnmXZ ~OQ> Š`m h¡, `h Š`m| ~Zm`m OmVm h¡ VWm CËnmXZ ~OQ> ~ZmVo g_` {H$Z
~mVm| H$m Ü`mZ aIm OmVm h¡?

OR / AWdm

(iii)(ii)

By the following Sales Data Calculate the sales of 2007 by least

square method.

{ZåZ {~H«$s g_H$mo Ho$ AmYma na Ý`yZV_ dJ© [a{V Ûmam 2014 H$s {~H«$s H$m nydm©Zw_mZ
H$s{OEŸ&

Year/df© 2002 2003 2004 2005 2006

Sales/{~H«$s$   83   92   71   90  169
(In Lac)

Q. 5. Write Short Notes on.

g§{já {Q>ßnUr {bI|&

(1) How is the maximum profitable level of production achieved?

CËnmXZ Ho$ gdm©{YH$ bm^Xm`H$ ñVa H$mo H¡$go àmá {H$`m OmVm h¡Ÿ&

(2) How do we use Alternative Production.

CËnmXZ H$s d¡H$pënH$ gw{dYm H$m Cn`moJ H¡$go {H$`m OmVm h¡Ÿ&

OR / AWdm

Define Cash & Flexible Budget in detail and write about their importance.

amoH$‹S> VWm bmoMerb ~OQ> H$mo {dñVma go ~VmB`o VWm CgH$m _hÎd {bI|&
ttt


